Report 18032522 - VIC\VE

VICTOR

PUMPS

23.01.25

Ersatzteilliste
S 60+60 G31T+PS

Schnittbild: S-412091 Artikel: 15440.01
Pos. Enthalt auch Pos. Art.Nr. Menge Beschreibung
00 14,17, 22, 24, 26, 43 329016 1 Flach-Dichtungssatz S 60, E+N
01 23, 24,47, 48, 49 320029 1 Gehause S 60, G
02 57 321139 1 VerschleilRplatte S 60, S, 60x171%x13
03 452075 1 Laufrad S 60+60, K, 170x24
10 402279 1 Saugstutzen S 50, G, R 2"
14 322136 1 Ventilklappe komplett S 50, N+K
16 403510 1 Deckel S 40, S
17 666205 1 Deckeldichtung S 40, N, 60x130%2
19 404169 1 Zwischenflansch S 60.3. 1, G
21 403217 1 Druckstutzen S 50, G, R 2"
22 665570 1 Dichtung, Druckstutzen S 50, N, 100x100x2
23 620054 1 Verschluf3schraube, S, R1"
24 619980 1 Dichtung R 1", E, 33x42x2
25 303130 1 Gleitringdichtungsatz S 60.3., YCV, B30.31(2).
26 403510 1 Deckel S 40, S
27 666205 1 Deckeldichtung S 40, N, 60x130x2
33 610708 1 Laufradmutter S 60, K, M18x1.5 UNI 7474
43 666026 1 Gehausedichtung S 60, E, 173x210x0,5 8B9
45 600127 4  Schraube, S, M 8x 25 DIN 933
47 613359 8  Stiftschraube, S, M 8x 18 DIN 938
48 612998 4  Stiftschraube, S, M10x 22 DIN 938
49 612996 4  Stiftschraube, S, M10x 20 DIN 938
50 612998 4  Stiftschraube, S, M10x 22 DIN 938
51 612043 8  Mutter, S, M10 DIN 934
52 612035 8  Mutter, S, M 8 DIN 934
53 612043 4  Mutter, S, M10 DIN 934
57 610229 4  Schraube, K, M 8x 16 DIN 912
60 611021 1 Pal¥feder S 60, K, 8x20 DIN6885A
66 610821 1 Laufradscheibe S 60, K, M18 DIN125A
70 651615 1 Fett-Patrone S ..+PS, Sima Lube
80 33, 45, 60, 66, 81, 82, 59368 1 Elektromotor-Satz S 60, .T52-K
82.1,82.2
81 715087 1 Motorful® S 63(112M), S, H20
82 600240 4  Schraube, S, M10x 30 DIN 933
82,1 612043 4 Mutter, S, M10 DIN 934
82,2 614045 4  Scheibe, S, M10 DIN125A




S Schnittbild - Section Dwg. - Disegno di sezione S-412091
S 60 ...T(52) (+F) 14/05/20

50
51

S 60 ..B+F

01
Z

“”_“8_66"8_
=

o

S 60 ..T(52)

&
|
i

\

NI T IR
.
\ \ @@N
§ /~/ : ; w0
~
2 5o i R s
. 7 s 2
o’/aill_ 1 i rr—n,/:a]
e | e v
| 2 ] v i
cn,/ N ! P
- LT
A

iail
T
olals

\ /

VICTOR
GERMANY - Tel. +49 89 9048660 « Fax +49 89 9043447 « germany@victorpumps.com EUMPS /
ITALY « Tel. +39 0498961266 « Fax +39 0498961255 - italy@victorpumps.com .






